(_EBAROHEEREER ) mosmmms s

a )
02(_) (91%) :ﬁ’ﬁ (cm) '—*4 [ﬁﬁ&ﬁﬁ?ﬁﬁ] &EE 2015/ 9/15 j——\
&l (kg) '
g | vC | 2.84 | cv
ID/Test No! ] B QOPE QolaToe LIP | g Maso e 16 o |
‘mgz" maE | | *E’F EEE . FVC | 298 |0 TLE 0
o 3 . %FVC [ 801 ®  RV/TLC )
g . FEV10 [ 122 |0  DLCO
:::H . 5 (%) MWV THR | 147 | . %FEV1 | 456 [(®  %DLCO ®)
. FEVL.O% | 409 [® DLCO/VA
HEA ®% Ok |FEVI/VCp | 36.9 [® Vig
! IC | 1.98 FRC

(LmiheRa]  HIEE[ 2015/9/17 | protocol [ Ergoill |[ 10 lwae  U~mig[ |
EBRST [ s55a7 | RIEEh [BET

EEEEE  2001% A3% 64Tk 843%% 1043 # 1203 14431R 1643 BT

Watt i | | |
Borg Scele| 0 oJos[ 1 J1 23475 L T T T 7 5
RR | 19.9 43 36.4 36.6 42.6 | 435 |(/min)
V| 985 666 832 951 915 956 |(ml)
VE | 19.6 28.5 30.2 34.8 39 | 416 (1/min)
voz | 347 453 554 694 728 ' 772 |(ml/min)
VO2/W | 5.5 72 8.8 11.0 11.6 ' , 123 |
vcoz | 359 458 546 688 740 | | i 789 |(ml/min)
R 103 1.01 0.99 099 | 1.02 | ! .02
VE/NO2| 57 63 55 50 | 54 1 54
VE/VCO2| 55 62 55 51 | 83 I - 3
VD/VT | 0.37 0.42 0.42 040 | 042 ] 042
HR| 99 114 120 133 | 138 | | | 145 |(/min)
VO2/HR| 3.5 40 | 46 52 | s3 | T ‘ | 5.3
METS | 157 2.06 251 | 315 33 ) 3.5
BP| 165/99 | 189/87 | 169/86 | 160/90 | 194/103 179/96 |(mmHg)
AR e one  ape  one B 10 105 UN%  l6hE KT
pH | [ 1 ]
Pa02 | A \(Torr)
PaCO2 | o (Torr)
HCO3 | (mm/1)
BE | 1 (mm/1)
SAT | )
Spoz| 97 96 95 94 | 92 il 92 (%)
Lactate | [ | | SSO. | S—— (mmol/1)
NA | l N | nE (ng/ml)
Ad| | ' | 1 (ng/ml)
[=2A}] STZA
L.ECGRTH. VPB [ 7L || |sveB [ RL | ®oMt [ ] (AL %}1 EE\IJR '723% %3;13 El]\\ﬁ E¥2
e [ o

2.peakVO2}E Tl ( ml/min)t’D | 53.7 | (7537 | %THY, MW ; o ) fl‘.."@liﬁ‘—l]ﬁ:’[:
3. P OHEE ik (VE/VO2) 1 | THY, R BHRIT ;

VEmax/MVV=[ 974 |%  #H&¥—viz | | VEmax/VEpred| 188.5 (1885 | % (VEpred [ 22.1 | 1/min)
4 REH B DPa02i% Torr THY, {EEEF AE (Pa02<60 Torr) % e |

PaO2 slope = [:‘ PaCO2 slope = | Torr/100mIVO2

5. MEHHIZ 4V HRIZ : O2pulse (VO2/HR) | Thh DR | #7Yt5
HRmax/THR=| g8.6

6. AT (V-slope)= :} ml/min AT (Lactate)= | ml/min  NT= | ml/min

T R F 1 | | 1L.EOf | |
% Sign. O #i# DR (Jdbm Dt DAl C=A% J=AK Oxg Ows [Re




